
Урок математики 
1 класс

� Тема:            

  Табличное вычитание.
  Общий прием вычитания      

по частям.

Урок построен в ТДМ.



Иметь зоркий глаз.
Уметь слушать и слышать.
Быть внимательным.



Разность
12 – 2 = 10                     
18 – 8 = 10           5            5          
13 – 3 = 10        2     3     1     4
  

Разность

483Вычитаемое

101010Уменьшаемое

7 2 6



    

            13  -  7 = 



3

13 – 7 = 10 – 4 = 6

3 4



�14 – 7 = 10 – 3= 7
        4   3

�11 – 4 = 10 – 3= 7
         1  3



  15 – 7 =  8
15 –  5  – 2  = 8



Молодцы!!!

Молодцы!!!


